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60° \4:L’—30°

@ 10° @ 20° @30° @ 40°

® 50°

x+60° = 4x - 30°
3x =90°
x = 30°
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@ 50° @)52° @ 54° @ 56° ® 60°
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50° + x + ax = 180°
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5% = 130°

. /Lx = H2°
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180° x (n - 2)
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D)120° @ 130° ® 140° @ 150° ® 160°

o] o]zte] 7719 3k 360° 0| B2
/x=360°—-30°—-70°-80°-60°=120°
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@® 85° @)90° ® 95° @ 100° ® 105°

2(/IAB + /IBA) + zx = 180°
x = 180° — 2(ZIAB + /IBA)
= 180° — 2 x 45°
= 90°
(. ZIAB + /IBA + 135° = 180°
. /IAB + /BA = 45°)
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O 70° @ 72° @73° @ 74° ® 75°

AECE & 9431 27219 ABCEF 2] Wzhe] g2 180°x (5
2) = 540°

540° = 105° + 120° + 36° + /DCE + /DEC + 62° + 110°
/DCE + /DEC = 107°

ADCE of| A

/x = 180° — 107° = 73° o]t}
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(A + B+ /C+ D+ (E+ (F+ /G + H+ A+ 2] 9 3k
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[x+ Ly + /z=180°---O

AB =BC °]|2& /A = /C, /.CBA = 180° - 2.C

CD =BC o|lE&
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@ 30° @ 1000 ® 1200 @rsoe

® 260°

75° 4+ x + (180° — 140°) + 47° 4 68° = 360°
L /x =130°




